EAGRAROBREERT — 2 N— IBISH —F

202158210 (&) 3EAH5EH

BN 728 B1= v55—#&

‘ (%] 2 ‘ (sl — | 4 (A) 18000 RE

[A&4£] 1 7% :2,900,000 @ 23 :1,160,000 @ 3 & :725,000 § 4 3% :435,000 @ . 5 7 :290,000 M
BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
Z—=IT14TZ i 5 593?352 1:(5_4).3 3-3-3-2 [39.0| — 5 :1_422) é@ﬁi;ék#)
LHIRT TR B:YIIER Pzt e ]
gy = o4 | mEF 1:55.1 4-4-4-5 |39.5| — 6 479 | ERER (KH#H)
ELH—b5H 5.0 @ (g |ALEE
L:hTotr R B:arduvResF RA B
HLILAENL 6 g’gf?giﬁ (11515/:,) 6-6-7-7 |39.3| — 1 447 Eggé (KH#)
L:ZXWqTRALE N B hYAOTF 4 — 9 | gpan 41z
g MEAEA : 55 - FEEZ (KH)
525F41—2 6 il (17.5;% 5-5-5-6 | 39.5 2 (5_%0) /J\;i%kﬁrs
LIRET—IYF— BiR—HF2HA ERHS
2 A= 4 6 | MK 1:55.8 7-7-6-4 | 40.0| — 3 465 | ER2ER (KH)
5188 IXREZ—F—xvy b 56.0 (2 1/2) (-5) EWEZ
LA R=32FK—L B:7O0-KFa(R H—L— -S> T7—LERE
TN RHEE— :57. —1-1- . = YEITIZ (/i)
6l5|/5| FFEI> # 5 e 1(597)7 2-1-1-1 | 43.4 4 (5:)50) E%E/
RIVIATA—h— BYINIL—> Bk %5
- o BEAIIE :00. -2-2- . - HeRIEA (/\HK)
7177 | FLZ7 N #" 6 56.0 (2929;) I ! ;‘3‘4) BERS .
R:xA1=Gr7—2 B:FLII-T4T WwEIKE
R o = BEHB : -8-8- — EFRBE (KH#)
8l1]1]>3 =7 ' 56.0 (27'9?%;-5) $o88 s s :% /Ji\Ei’duJﬁ—
L:0-K7I5F1~ B:¥AL kel
® I —F—EBIERL
1a—74— 7,5,6,4,2,3,8,1
2o=7r= 5,7,6,4,2,3,8,1
Ga=r= 5,7,6,4,2,8,3,1
40— — 5,(6,7),8,4,2,3,1
[ RN
B OB 6 740M 714K 4-6 590M B = 4-6 2,080 3ER 3-4-6 2,090
7 B 6 190 3-6 BOH| | B & 6-4 4,430 | | 3EE 6-4-3 17,610
4 240H 3-4 470
3 1204

ARICOVWTRDTEEERROODE. TR LIV,




